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Maths - Recognising Coins (page 4)

Question 1 -There are two children, each with different coins. Children are asked to count
each total and write the amount. Children should notice each child has a different
number of coins. They can look at the colour, size and shape of the coin to help
determine its value.

Daisy has 22p; Tim also has 22p.

Question 2 - Children should look at the ‘before’ wallet and notice the coins that are
included. They should then look at the ‘after’ wallet and identify which coins are missing. It
may help children to count each type of coin, or tick off coins from the ‘before’ wallet as
they count those in the ‘after’ wallet.

Joe has lost one 50p coin and two 1p coins.

Question 3 - In this question, there are two children who are counting their own money.
Peter has two £2 coins and Sally has two £1 coins. Peter thinks they both have the same
amount of money because they have the same number of gold coins. Children are asked
to explain whether Peter is correct.

Peteris incorrect. Although they each have two gold coins, Peter's coins have a higher
value so he has more money than Sally.
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Maths - Ordering Numbers (page 2)

Question 1 - This question gives four numbers: 65, 37, 21 and 12. There are four statements
and children are asked to identify the one statement that does not match the given
numbers. The numbers are ordered from largest to the smallest, the first number is the
largest and the fourth numberis the smallest.

Statement A does not match the set of numbers.

Question 2 - In this question, there are four images that represent different numbers. A.
represents 70; B. represents 63; C. represents 66 and D. represents 82. Children are asked
to order the numbers from smallest to largest.

The numbers must be ordered as follows: B < C < A <D

Question 3 - Frank has ordered five numbers: 81, 71, 63, 31 and 12. He states that the
fourth number is smaller than the third but bigger than the fifth. Children are asked to
explain whether or not they agree with Frank's statement.

Frank is correct because the numbers are ordered from the largest to the smallest. 31 < 63
and 31> 12,
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Maths - Counting in Coins (page 8)

Question 1 - Each purse includes a different amount of money. Children should count the
coins in each purse and match it to the correct total.

Alis 15p; Bis 12p and C is 18p.

Question 2 - This question asks children to compare the different amounts of money and
use the word bank to fill in the missing spaces. Children should find the value of each
group of coins before comparing it to the given amounts.

The answers are as follows: 7p is more than ép; 11p is less than 12p; 31p is equal to 31p.

Question 3 - In this question, two children are each describing how much money they
each have. Children are asked to identify who has the most money.

Billy has three 10ps and a 2p coin, therefore he has a total of 32p. Seb has four 5p coins
and a 1p coin , therefore he has a total of 21p. Billy has the most money.
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Maths - Recognising Notes (page 6)

Question 1 - This question displays £5 and £10 notes. Ben thinks that there are five £5 notes
in total. Children must count the number of £5 notes to decide whether Ben is correct.

Ben is incorrect, there are six £5 notes.

Question 2 - This question includes the symbols <,> and =. These are comparison symbols
used to represent more than (>), less than (<) and equal to (=). Children are asked to
compare the notes and coins by writing the correct symbols in the space provided.

The answers are as follows: one £20 note > five £1 coins; five £1 coins = one £5 note; one
£10 note = ten £1 coins.

Question 3 - The question explains that Sue has two different types of notes that total £45.
Children are asked to give three possible ways of creating £45 with two types of notes.

There are various answers to this question. Some examples are: one £20 note and five £5
notes; one £10 note and seven £5 notes; two £20 notes and one £5 note.
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'3 Fanks ordering the numbers below. Do you agree with Frank? Explain why.
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3. Sue has saved some money. Which nofes could she have? Find free possbiies.
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